AP Calculus Name Kp.u,--

Precalculus Review

Domain
Find the domain and range of the following functions. Write your answers in interval notation.
Hint: Use what you know about the functions and then verify your thoughts with the calculator. "
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4. For f(x) = x“ = 2x + 1, find St &
a)f(3) - -1 + | r{i b) fla+1) 2 (a+V)* --.-_(a.n} +l c) f(x+h) = Cx+\"0 -TLLx-l-h\*"l

=a 4+2a+1-2a =241 mx ~1'n+l

5. If f(x) =3x -5 and g(x) = x* + 2, find = !>< L 2 - 2X
a) [feg](x)= 3(x“4—2‘: =S b) [ge fl(x)= (’ﬁx—s) *2 = e
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6. Find the equation of the line passing through the pomts (2 3) and { 5 7) Express your answer in the form
yv=y,=mx—-x). -ms= 7-3 X fﬂ 3 4&_&) =+ YT 3x-1
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7. Find the equation of the line that passes through the pomt ( 2 3) and |s paraliel to the line ey -35 4350
Ix—-2y+6=0. -2y = -3x*b -3, Fi 3 (x-b?.. X+15x-
y = 2x+3 ‘:j i /2 \ W X =32
8. Find the equation of the line that passes through the pomt( 1, 2) and |s perpendlcular to the line X212
2% —3y+5=0. -31--2x-"5 dm =2 £ = ST
y 8 _x = m ‘I -2 2 _-.(,U.t) ) f_'ChZJl\
9. Find the point of mtersect{on of the lines 3x -y -7 = Oandx + By+3= 0. T
10. Sketch the region bounded by the curves y =9 — x> and y = 2x + 1.
(bounded means enclosed by)
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[ 2x +1 if x < -1 X
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11. Sketch the graph of f(x)=4 7 if x=-1 s 1
19—){2 if x>—1 \
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12. Sketch the graph of f(x)= . o -
x-  if x=1
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Factor the following expressions completely.
13. xX* -64 (x-8)(x+8) 14. 9x-x> X(3-X)(3+x) 15 ¥ +2x-3 (X+3)(x-1)
16. 6x° —x — 2 17. x*> -3x-88 18. 2x® —=3x? —6X+9 = x*(2x -3) ~3(2x-3)
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Simplifying Rational Expressions
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(<) (574D x? -2x -8 cx—q)(xﬂi) 2% x - Sx™
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22.4x—11=3x + 1 23. (2x - 1)(4x-3) = (Bx-1)(x+2) 24, (x 2)2— 16 g
X = 12" Bx*-jox +3 = BxT+15x -2 2=2 "i R =) 5X
o S= 25x y §+X
5. (x+ 17 =-8 (X223 26 RS, je-¥ (;_ Ly 27.2%+9 3 <
- = s, | 5 7 5/ x+1 4 ao =3
X+l = -2 Ixeal = 10-Sx ST 8x + x+3
Exponents Simplify. All exponents must be posmve 122% = =i ‘L" 3 Sx = =~ 1
o ¥, /—J W T,
e * =171 A
28. x(x%) =t 29. (x3)* {J £ 0. Er'-"ﬁ 31, w X = )
] \_~ ot Xy /{o"\ ——
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Logarlthms S/mpllfy =) LY
log,8 =3 33. In¢’ -.:@:l 34. [n4__+|115 35. log10—Tlog5s
. il =y
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36. If sin0 = -5-, and 0 <0 < % find (Hint: Draw a triangle.)
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a)cosO [ b) tan0 (& c) secO [ = d) cscO
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Find the exact value of each expression. (No calculators) —
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37. sin E ~ (_?_.', . COS Z -y | ..,___-
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40. csc [—S—KJ = (-2
5 -
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41.secm =[~l
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44. cos — :k—-—
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Evaluate the following expressions.
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46. cos 2 e,

ao(z) =53

-1 ™ & /fl.Tr K
49. tan (0) o 50. sec'(-2) = .

o

Because Arcfunctions are restricted, there will only be one answer,
/"_'_v' "

-1 - i1 e

48. cot” (-1) _<—§.,
51. sec’'(-1) :&A"T‘:

= b
Solve the following equations forx. ~ ®°X= 57 cosx = = =
52. 2 cos x = 1 in the interval [0, 27 ). (—; :ﬂ:. $7W ) 53 2cos’=1intheinterval [0,2m). =
" 3 ) ~ 1
gL /f =TT f .4 ’ éft" ;-1"‘:%'-
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54. sin’x + sin x = 0 in the interval [0, 27 ). 2nx = -0, ~I 55. cot x = 0 in the interval [0 TE] ;\__,.\\ . e
Anx (ALnx4i) =0 Q,\‘; w, 3% ) Hanx=wund TR 3N — AN
e T 2 = i 25',( -1
Divide using synthetic or long divisio ’(lf'"approprlate) \\_u_x =V }-
, T {3+ ¥ F3x 4
56. x'—4x” +2x+5 ___1 l -"-{ % | fil 57. 3x +4x+11 2 3,02 fﬁx +ox> +dx + I\
o s e X =3x+2 — (3x® -Ax* + bx)
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